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ADVANCE FIINDI

Full Marks : 100

Pass Marks : 30

Time : Three hours

The figures in tlrc margin iwlicale full marks
for the questions.

Q. No 1 carries 7 mark eaclt

Q. No. 2 cnrries 2 nurks eaclr

Q. No. 3 carries 4 marks enclr

Q. No. 4 carrbs 6 nnrks each (any fout) 6x4 = 24

1.x-12 = "12

* 2x6 =12
2x4 = 8

* 2x2=' 4

* 4\2 = I
* 4x2 = 8

* 4x3 =12
.\ 4x3 = 12

Total= 100

Contd.



1. ffifun erif + srr ryf qrn d {fqq :

(q') :nor .liqTt ffiq-fir q-fi-fi t ?

(rq) 'frKTq r6qq'sH-dr flq-e s{rq qt ffi rrql *.F{in t?

(.r) T6rtq1 qqf fu€ Er *1 *gu m-+ffi u1?

(q) ffl+-r ql + ffi q6 mrq-ffr qT iFr fofisq r

(s) 'qlw-q qdq' l+-q ?r€ or qr-s' t U

(q) 'qrsr qdul' qreEr t u.t{ *.refrfi w t ?

(6) rr6RM giqn qrgnr qC"r q.Ei *' rrnrq t z

(q) Trfr eqqtqr$ *. ftdI qT q-rT wr r ?

(g) rrfi eqffi Bqerrcr sT eqqrd 'Bqq' t di rflTd wr t I

(q) q5qrq e{dq;n yr<risn t w e?rkis'R Z

1x12=12
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(z) 'dgr gfrrd q<r-rfr'q fi-vt sldmt t?

(d) A-6r dq 4i ydm {to d ye ffi crr{ 6t-fr t?

2. fTqfif€d wi * st't 4tsq :

EFrg-?6

(ffi s' rri'# rar d&sl 2x6=12

(q) 'f,{S €]si {64 {sra Eql M q<-q< qlt'ott{-{ se qlfuql

(u)'.+rco qRqr'skfl 4- qrtqqt qfu wr ritvT tn erar tZ

(r) 'firsi go ITdr d'+.fqil +,l {d qrq.wr t?

(s) r-6li* qqf + srd el qrq'tfr ffi t?

. (9 't-&.,r1a e1 W ilr fTq-€fr t nft eif,{ at t' - * q-q HE qlfqqt

(q) Tfir fr i sffiit qr enq*n tu-qr t?

(E) 'fr, {6 cqr t riffiT-d R 5, sI' - fuq-sT.;iffird +-ti cq gsTI t{?

(s) ffi c{rfr c{ ffi Sfrqq *1 elqC t qRT !n?

1g1 
rq-aa rTift'f*..sfir rtfu t 3i{ ffi f<qr Tqr tZ
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(E)

(rr)

(s)

t€T XGEEqE i di+-a?

'2x2=4

qI?,:,

(E) ote d .rq t'



3. Fiqfrfea srir * T{r {frc ,

ENITg.E

(ffi it cr+' + c-dr d&Sl 4x2=8

(q) ckd 6i{dr + qTqR qt qrrfrsnr * ffi qir ffiq-mSt er Yds
etfrqr

(€') vrmfufi cFs& eri t 6ffif 4"r +fr sfnrsl rti t ?

(.r) cfun 6fraT t qTsR qt rr'qTt sl qrftFrd ffis'dptf q-r qfi olfqqt

EIU'g-E

(ffi t Yri # rar di?ql 4x2=8

(q) rlg.i qftt A 3{h-dr i'q-rm *. €qi SI €TsR 4{i + ff,s flI-HI F*-ql ?

(E) {rqfr i sas{ edlr q1 nd ufi?r*-r wr d?v ftq?

(r) '3Tci els 6c td-qd-tvt *l qr-{ =r€r it' - en$q we q1fuqt

EIs-g-17

1fuaT ah Yvn i sat s?fqsl 4x3=-t2

(4)'{rfr eqqH trq-qkc 1'+-ai el e-d-drnr'qe +1fuqt

(u) T${R qdTi 41e-er rrfi e$ffi i H ffi fr?

(',r) {sririrgrt rrq i ffi'il< foqr? ss'Ttq 6} +Tfi-sr+-R i f*-{ Frqt'i *
rca qet*lr fl f,(qr?
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(s)

(9

(6)

(€)

dsm *'em ql teitu-a o1frqt

'lrfr {rfff * qce q1 vFdtsT q'cri {rfi off g.retr+T ql skq tr'ss
6tra al gfu aifuqr

q"rq i frf q1 qcm qar{qt

3rcisr{ 61cftqvr R gq fiq i t
<itss r

Fqs'; {As; qlFF

(rr) {s ffi q-64 t 7 fTqfufud g d ffi' (f, {s ql €tffit"T qfu+q {lq\ t

dT{; fl<t; 4-5ur

qtrg-q

, 1ffifua rrn'# rar dr"gl 4x3=12

ffi s6 edsR q.r qtqt.roT ckq-q

6x4=24

!

:I fTqfdfen vrji q'rw <rlqq ,

(q') 'qn-q *116'+tem ql 
'{rqr?j 

ee eltq\t

(€)

. 
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'{6lkm eqi g:lu etr +fir 6i +-fdffi ql'rqfua e'f{dr + 3{TIIR q{ FI€

elfrct

{rqq qs-dr 4' foq tnsr qCur Ero fuq 'rs 
q-rd qr eoi-{ 61fiqq r

t6l



wtz{t

'r{rs-{ qCrt' qre-d ql o'qr+E +f li$q fr fufuq t

(rt) ttrl eqffi i €k€us al w5-qq:wr qI t-q-H f*s vsri i*q ? se
qikq 

r

wtztT

trfi eqqtil-i gRT qrqlfiilfi qrq efu {qq +r{r + fuq fmq rrq ffi.rd sr
qRqq dffiq

(q) 'rrfi eqfrqr€ 3rFT €16qi efl-t edq6 {reffi pfi t' qbd 3rr;zTrq * e1qq

q{ He *1Feq t

' wtztT

rrfi eqqtqri q,1 qrRtf,*. ffiqffiir ql {ifqTw qRqq <ifqq t

X
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